Discussion 6
Use the following to answer questions 1-2:
Let X be the income and Y be the consumption ($000). Consider the following data:

Income:

12
13
14
13
15

Consumption:

12
13
13
12
14

1. The coefficient of correlation is:

a. 0.0

b.0.99

c. 0.89

d. 0.76

2. The coefficient of determination is:
a. 0.36

b. 0.79

c. 0.58

d. 0.98
3. Find the correlation coefficient for 6 pairs of observations if 
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 and if 36% of the variation in y is explained by regression on x.
	(A)  0.6
	(B) -0.6
	(C) -0.05
	(D)  0.36


Use the following to answer questions 4-6:

The following table represents the yearly revenue (Y) for a Company in Millions of 

Riyals during the period 2005 to 2009

	Year
	2005
	2006
	2007
	2008
	2009

	Y
	7
	10
	9
	11
	13


4. The yearly change in revenue (b) is (approximately):

a. 6.1

b. 1.3

c. 3.1

d.1

5. The intercept (a) of the Linear Trend Equation is (approximately):

a. 6.1

b. 1.3

c. 3.1

d. 1

6. The predicted revenue for the year 2010 is (approximately):

a. 13.9

b. 13

c. 6.1

d. 1.3

Use the following to answer questions 7-8:

Listed below is the consolidated revenue (in $ biliions)for General Electric for the period from 2004 to 2008:
	Year
	Y

	2004
	10

	2005
	11

	2006
	11

	2007
	13

	2008
	15

	Total
	


7.  The linear (the least squares) trend equation is:

	(A)  
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8. What is the estimated consolidated revenue for 2013? 
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Use the following to answer questions 9-10:

In 1995 the price of a book published by Eastern Publishing, Inc. was $50. In 2005 the price of the same book was $35. 

9.Using 1995 as the base period the index for the price of the book in 2005 is

	(A)  70
	(B) 130
	(C) 120
	(D) 65


10. From the answer at questions 1 ,this means the price:

	(A) Increased 120 percent from the base period.



	

	(B) Increased by 20 units from the base perice

	(C) Decreased by 70 percent from the base priceeeriod.



	(D) Decreased by 30 percent from the base priceeeriod.




11.
The following are sales prices of existing single family homes (in thousands of dollars):


Year
2000
2001
2002
2003


Price
106.5
108.7
113.8
118.9


Using 2000 as the base year, what is the index of home prices in 2003?

a. 118.9
b. 111.6
c. 104.48
d. 100.00

12.
The following data is the weekly average exchange rate for the dollar against the German Mark.


Week

1
2
3
4
5
6
7
8


Rate

1.54
1.61
1.65
1.71
1.64
1.65
1.74
1.79


Compute the index number for week 6, using week 1 as the base week.

a. 93.93
b. 107.14
c. 110

d. 254.1

 Use the following to answer questions 13-15:
Fruit prices and the amounts consumed for 2000 and 2009 are below. 

	Fruit
	2000

Price         Quantity
	2009

Price        Quantity

	Bananas(Pound)
	$2                  6
	$3                7

	Apples(pound)
	$3                  5
	$4                8

	Oranges(pound)
	$2                  8
	$3                7

	Total
	
	


13. Laspeyres’ price index for 2009 using 2000 as the base period is:

	(A)  142.31
	(B) 156.52
	(C) 144.19
	(D) 143.90


14.  Paasche’ price index for 2009 using 2000 as the base period is:

	(A)  124.45
	(B) 175.34
	(C) 112.34


	(D) 142.31


15.  Fisher’s ideal index using the values for Laspeyres and Paache indexes is:

	 (A)  143.25
	(B) 125
	(C) 129
	(D) 695.02
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